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Q.1: o{lAetl Ysloll acllol UL (SlEFURL UiAL). (10)

Answer the following question (Any Five).

1. lim a*1
x—-1

2. y=¢”* alal ll [d—y] 0l (Find Differentiation).
dxlx=0

3. % [oledloj $€ 5 &lal Wl R= 2.326 &l l Beulgal
ylsale] AU d yHBld (Qucst 0.

(If sample size 5and R= 2.326 then find standard deviation
of production process.)

4. % A ¥ B URUR [Acllrs wal [LAN weetl sl dl
p(AUB) ol (5t 20

(If A and B are mutually exclusive and exhaustive event then
find p(A U B).
. 1+x
5. lim—

6. Al 9JRLUH A Yol JJRUHS Aol sl dl JRUHS AHuUls
Q ol HelH (SHA LUl

(There is positive association between two attributes then state

the maximum value of coefficient of association.)

50 | 20
7.86Ucoll g [10] sl@s &lal dl oBlleHs duuls k.




(If contingency table Find |50 | 20| coefficient of association.)
0O |10

8. %l ¥ WIAW Hle % = 30, UCL=40 &lal ll LCL 20l
(For a x-chart X = 30,UCL=40 then LCL find.)
9. %l y = logx alad [d—y] L.
dxly=1
(If y=logx then find [Z—y] )

Xlx=1

10. o{lA WA HUleAloll 2ottt ASIA

(Test the consistency of the following data.)
(A)=300, (B)=100, (AB)=120, N=400
Q.2 Ul Q.5 il slFunl A cvtal. (28)

(Answer the question any two from Q.2 to Q.5)

Q.2:(a) (1 0. (Evaluate) (04)
. x24+3x+2 . 1 1
(1) xliTIll x2+4x+3 (2) ;lcl_trzl x—2 (x—l)(x—Z)]
(b) [AsCet 5. (Differentiate): (04)

(1)y = (Bx*=2)(x*+7)
(2)y = log - log x
(c) 52 Utllefl alsHiell 2 Uil &g 69 A AaltHl qUa A, (06)

(1) ol st WAl AR(Al sl
(2) WS U AWl Wl As U AL sl Aell
etlaell 20wl

(Two cards are draw from a pack of 52 cards, then find the

probabilities,
(1) Both are king or queen.
(2) One king and one queen.)



Q.3:(a) (SHd 20a (Evaluate): (04)

(1) lim &X20+3) (2)lim =2

x—oo 1+2+--+n x—9 Jx—3

(b) A AHUA WA BNl AHoll GUR HOAL sl (04)
Aal,
(1) Ao 11 WA
(2)  BLOUHL AL ARl 11w Ae{l el
nedl.

(Two cubical dies are through simultaneously then find

the probabilities,
(1) Getting sum 11
(2)Getting sum at least 11

(c) ollAell 1A wRell A ot A WA B < (06)
JRlLeHSs Aol oll YsIR olssl s3,
(1) WUAABA wal A& 2g(Qsdl da,
(2) ynwel 3Aq,

(From the following data state the types of association

between two attribute A and B by,
(1) Observed and expected frequency method
(2)Proportion method)

N=210, (A) = 60, () = 140, (AB) = 20

Q.4 : (a) [AsAsl S, (Differentiate) : (04)
(1)y = 2_35x 2)y =x-logx
(b)y = x3 —3x2 + 5 oll AYclH (B 20 (04)

(Obtain minimum value of the function y = x3 — 3x2 + 5)



(c) ollAell Ml uell Yetoll A WetRcl wa As3
R OJBUHS Aouls W

(From the following data find coefficient of association
between literacy and jobless)

sC (s (Total No. of Persons) = 1000
[ARe12 AslR caulscRA (Illiterate persons) = 440

Als3| sl ULER cAlsRA (Job full literate persons) = 40

(06)

Als3 5l ARaR caulscA (Job full llliterate persons) = 360

Q.5:(a) ol Aol UEL UM (State the following terms) :
(1) UWRRUR [Aallrks weell ( Mutually exclusive event).
(2) Yrs ueell (Complementary event).
(b) W5 WEHL 4 UFE ol 2L sl ESL B,
ol AHidl Al est a9 A Aol A d,

(In a box contains 4 white and 4 black balls, if two balls

are selected at random then find the probabilities,
(1) olol s 29all @a(Both are same colour)

(2) olol WEL YEL RILell @E‘al(Both are the different colour)

(c)y = x3 4+ 6x% — 15x 4 7o(l HETH WMol oYottiH
RTINS

(Find maximum and minimum value of

functiony = x3 + 6x% — 15x + 7.)

(04)

(04)

(06)



Q.6 (a): AlejsHall Rglc UM (Explain THEORY OF RUN). (04)
(b): Al HUEA Wl - 2UAW €13 Geulest ulsal  (08)
(A AR ARl Bl (n=5).

(Draw x- chart from the following data and give the
conclusion about production process). (n=5)

dMe9L |23 |23 |22 |23 |22 |20 |20 |24 |25 |23

Averagr(x)

RQaciz |8 (3 |4 |8 |4 |2 |4 |7 [2 |4

Range(R)

U UCUL(OR)

Q.6 (a) : JLRlelTllHl At YSIR UMl (04)
(State the types of variation in quality)
(b) : o1l HUEA uRell R-UAW €13l Geaulest ylsuL (08)
(A AR A2t eseuAl.

(Draw R-chart from the following data and give the
conclusion about the production process).

A Al soll
[Aeel su Observation
Sample size X4 X2 X3 X4
1 8 7 8 ’/
2 12 10 7 6
3 9 9 8 ’/
4 10 12 8 7
5 9 9 3 8
6 14 10 10 11
7 ) 9 10 7
3 12 10 10 10
9 11 6 14 2
10 7 9 4 >

End



